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SMIFI0ASH
REEAETERAKE ERmKERARERHREE
FRKEFR 9:00
KERBRER EFRHFKE BKHF EK )

H Xz [R | KE | & E| pH [FLAY EE EE | B ES v | " &
= BEWM|1F Y Ar |(B&X
C G E mg/l | mg/l | mg/l | mg/l | mg/l | mg/l AE)
1 il 23.0 19.5 7.7 7.95 11
2 s 25.0 19.6 6.2 7.76 1
3 i 28.0 22.1 4.8 7.84 12
4 s 23.8 20.2 5.5 7.93 8
5 i 24.5 20.8 4.0 7.95 52.3 57.7 131 5.6 0.29 <0.02 9
6 s 24.0 20.9 5.4 7.91 13
1 g 24.3 21.7 3.7 7.98 9
8 s 24.0 20.6 3.9 7.99 13
9 i 25.0 21.7 3.5 7.96 9
10 g 22.0 21.3 4.8 7.96 9
1 i 23.9 20.8 4.6 8.04 8
12 g 26.0 21.0 3.5 7.90 1
13 g 21.2 20.0 8.3 7.58 12
14 - 20.0 19.1 19.3 7.62 40
15 i 21.8 19.4 13.0 7.68 24
16 g 22.0 20.3 6.1 7.81 14
17 5] 19.0 20.0 5.8 7.82 16
18 i 16.0 18.0 9.8 7.86 25
19 il 13.0 16.0 6.6 7.80 51.4 60. 1 137 6.3 0. 41 0.02 13
20 i 17.5 16.8 5.3 7.85 20
21 i 15.0 17.0 6.0 7.91 15
22 el 14.0 15.2 6.3 7.87 12
23 i 16.0 14.8 3.7 7.89 12
24 i 15.0 15.5 4.1 7.90 8
25 g 14.0 14.5 6.3 7.90 10
26 i 18.0 15.2 2.7 7.77 9
27 g 16.9 15.0 10.0 7.87 16
28 i 18.2 16.5 4.6 7.89 13
29 i 17.1 16.3 5.8 7.90 13
30 i 15.0 15.8 3.9 7.90 14
31 g 15.0 14.9 4.2 7.89 12

1y 19.9 18.4 6.1 7.87 51.9 58.9 134 6.0 | 0.35 <0.02

1= 28.0 | 22.1 19.3 8.04 | 52.3 60. 1 137 6.3 | 0.41 0.02

=IE 13.0 14.5 2.7 7.58 | 51.4 | 57.7 131 5.6 | 0.29 <0.02
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SH3FI0AS
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KR 9:00
KEBHARBRKER (BER%KE BEKt GRK) )
H Xix [E | KE|EH E| pH FLAHY EE AFE | EtY % Ty | B &
= BEW | 1 * Hy
°C °C E mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 Sl 23.0 19.7 1.5 7.64
2 % 25.0 20.2 2.6 7.52
3 i 28.0 20.3 2.2 7.62
4 % 23.8 20.3 3.0 7.55
5 i 24.5 19.8 2.1 7.68 49.3 57.2 134 5.6 0.05 <0.02
6 % 24.0 20.7 2.5 7.66
7 g 24.3 20.8 2.6 7.65
8 % 24.0 20.8 2.3 7.64
9 i 25.0 20.2 2.4 7.64
10 £ 22.0 21.0 2.1 7.64
11 i 23.9 21.3 1.7 7.69
12 £ 26.0 21.0 1.3 7.77
13 £ 21.2 21.3 2.3 7.61
14 £ 20.0 20. 1 2.0 7.47
15 i 21.8 19.4 2.6 7.36
16 £ 22.0 20.0 2.1 7.51
17 Gl 19.0 20.0 2.1 7.55
18 % 16.0 19.8 2.3 7.62
19 55 13.0 16. 4 2.3 7.62 48.5 59.7 128 6.2 0.09 <0.02
20 % 17.5 16.8 2.0 7.60
21 i 15.0 16.9 1.5 7.63
22 Gl 14.0 15.8 2.4 7.61
23 i 16.0 15.9 1.9 7.60
24 % 15.0 15.7 2.2 7.69
25 g 14.0 15.6 2.1 7.68
26 % 18.0 15.3 2.5 7.74
27 £ 16.9 15.1 2.3 7.62
28 % 18.2 16.3 2.8 7.62
29 i 17.1 16.3 2.2 7.64
30 % 15.0 15.6 2.6 7.63
31 g 15.0 14.7 1.7 7.66
Ty 19.9 18.5 2.2 7.62 | 48.9 58.5 131 5.9 0.07 <0.02
== 28.0 | 21.3 3.0 7.71 49.3 59.7 134 6.2 | 0.09 <0.02
=IE 13.0 14.7 1.3 7.36 | 48.5 57.2 128 5.6 | 0.05 <0.02




